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Model Summary

3

std. Error
of the
Model| R RSquare  Estimate
1 1 Ra 868 32.81
a. Predictors: (Constant), VHAC
ANOVAb
Sum of Mean
Model . Squares df Square F Sig.
1 Regression  767740.2 1 7677402 713.226 .000a
Residual 116254.8 108 1076.434
Total 883995.0 109
a- Predictors: (Constant), VHAC
b- Dependent Variable: BAC
Coefficients?
Unstandardized 95% Confidence
Coefficients Interval for B
Lower Upper
Model B Std. Error t Sig. Bound Bound
1 (Constant) 8.128 8.354 973 333 -8.432 24.687
VHAC 1.020 038 26.706 .000 944 1.096
a. Dependent Variable: BAC
BAC = 1.02 VHAC + 8.13
(R2=10.868) 95 (95 % prediction interval)

+ 64.96 V (111/110) + [(VHAC - 203)2737878]

+95% Pl = SE *10.025,df* VI+(IIn) + (X0- X)2

[1(X 2-[(Z x)2]in]
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= 1.06 VHAC BAC

(predicted BAC)
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conversion factor
Paired t test
0.938) ( 11 27)
33

1

Paired t test

(observed BAC)

conversion factor

conversion factor

(mean paired differences)

1 A vs B
2 Avs C
3 Bvs C

A = Observed BAC
B = Predicted BAC (
¢ = Predicted BAC (

021 0.050
0.34 0.078
-0.13 -0.342

linear regression equation)
conversion factor)

Paired t test
0.05 (P=0.733) ( 1 27)
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P value
(2-tailed)
0.960
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